
423 

(2) 21:4 
423 

15 

3) 

( 25+ 43y8, 1739 

2 

3t4 
4et 3 

45 

38442401 

getlo 

412 

32o4 4 
|31214 |2244 

41213 
14M13Zo 

3-4 

2+2 

23 
11 

23244 0-0 

256 

at5=b +2[1 

61 

a+bE2C31 

1254 /K 4- 144 
4 2S7/24= 387 

54' +122 

B250/14 250 
114 337 750 

12, 58dem 

o 
4x6 24 

T12 



15 6 +6 

4) 

27 

12600 = 2x35 

42 

63 x 25/8 

12600 

18 

2et15 

63x8Z5 504yz5| 2444 

40+6+6 �22 min. 

27 

1(3A)(2ata) 
2 

2 44 



2025-34 

(e,4,1) 
S se> 3 

3) 
(2,3,3):(333) t (53) 

. (2,5,3)2(55,3) 
+,)aet3 

(4,2,2,,,2)OK 23,4 
(2,4,2,2,2) oK 
(2]3) 
(2, 2 X 

o (2,2,3)wh NON 
(2,3,3) OK 
(2,4,4) 
2,55) 

5,52 

332 

(2, 2,33,3) x3 
(2,23,53, 3) 4 

44,2,7,2,3)z56 (2,2 
2+4422=2, 55) 

a24 

2625/42-168, 

43,3,23,) 2 
44,4,4,4,) 



14 
201 

3ySx17 

2025 

2025 

2-1220251/ g, 1at z02s0/3,0 
2025/B6950 20963492 

a 


